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Note: (i) There are in all 30 questions in this question paper. All guestions are
compulsory.

(i) Question No.1 to 10 carry one mark each. Question No.11 to 15 carry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26 to 30 carry six marks each.

(i) Question No.1 to 5 are multiple choice questions. Here four options are
given in each question. Write the correct option in your answer book.

(iv) There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and three questions of 6 marks. You have to attempt only one of
the given choices in such questions.

(v) In questions on construction, drawing should be neat and exactly as per
the given measurement.

(vi) Use of calculator is not permitted.
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1. = 8 R e & 1

In following, the irrational number is-

() 43 (i) Ja (i) 5 (iv) 2/3

2. fouma sgue & o B @ - | 1
The degree of a quadratic polynomial is -
(i) © (i) 1 (i} 2 (iv) 3

3. HER A0 4, 10, 16, 22, ------ T 30T 98 | - 1
The next term of A.P. 4, 10, 16, 22, ------- will be - '
(iy 26 (i) 28 _ (iiiy 30 - (iv) 32

4. 9i& v gd B IR 3R SF5e THTHE T VA WER 8, N IT o bl Do g 1
(i) 2 9E® (i) 4 AF® (i) rHAD (iv) 7 A&
If the perimeter and the area of a circle are numerically equal, then the radius of
the circle is :
(i) 2 units (it) 4 units (ii} nunits (iv) 7 units

5. 3 g, o ufea d it &, @ miear e & - ‘ | 1
The probability of an event which is sure to occur is ;
(i) 0 (i) 1/2 (i) 1 (iv) 2

6. fead IR x2 - 9 = 0 B &6 DT 1

Solve the quadratic equation x2 - 9 = 0.

7. UﬁcotAz%FﬁtanAaﬂﬂﬁﬁTﬁ;ﬁﬁml 1

If cot A = % , then calculate the value of tan A.

8. QI wwwY Pyl o Yo 4 : 5 & U A &, IS e F IFUE 71 BTl 1
Sides of two similar triangle are in the ratio 4 : 5. Find the ratio of their areas.

9. Fa R Red d feg R 70 o fosamt woet I &) waxt &2 1
How many tangents are there to a circle, passing through a point lying on the
circle?
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10. R dct @1 wrea i B A ST ftoeT 3R TgEd HA: 45 3R 13F 1
Find the mean of a distribution if its median and mode are 45 and 13

respectively.

11. uﬁa@aax2—8x~4$qmﬁaﬂaﬁn4€rﬁraﬁmml 2

If the sum of zeroes of the polynomial ax>~-8x-4 is 4, then find the value of a.

12. T A, B, C T & & smaRe oo & of fag Hifse s - 2
. B+C A B+C . A
gin —- — C05— + COS sin — =1
2 2 2
If A, B, C are the interior angles of A ABC then show that -
. B+C A B+C . A
sin COS— + €C0S —— sin— =1
2 2 2
3|l (OR)
1+tan’ A
fredle- — 5. = tan* A
1+cot’ A
1+tan® A 5
. _ =tan‘A
Prove that 1+ cot? A

13. Sita Hfe 5 &1 &g (5, -2), (6, 4) 3R (7, -2) vo FAEag Pys S A &1 2
Check whether (5, -2), (6, 4) and (7, -2) are the vertices of an isosceles
triangle.

14. 3 3. B & o6 g Wife 3k aa 39 6 fomg W <ot X difel 2

Draw a circle of radius 3 cm. and then draw a tangent at any point of it.

15. TF YRy @ agesdl thel ST &1 B faww W AIe 3] 3 WA i ool 2

A dice is thrown at random. Find the probability of getting an odd number.
3dr (OR)

12 ERTE FT 132 3re U1 & fsor § A v U7 agesan foaen sar &, Fdter T 0 o
3TERT B B! WTehdT 3 S|

A pen is drawn at random from a mixture of 12 defective pens and 132 good

pens. Determine the probability that the pen taken out is good one.
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16.

17.

18.

19.

2x*-3x3-3x2+6x~ 23%@{@6%3&%@&3@5%% 2 IR -5

T # . 3

Find all other zeroes of 2x*-3x3-3x%+6x-2, if you know that two of its zeroes

are /2 and - /7.

FrefaRad wiiexon & Tl 3t 9 &a difse 3
Solve the following equations graphically :

X+ 3y =6

2x - 3y =12

foseit TR UM (A.P.) BT Wom Ug 8, 3tfaw ug 62 3R wel @1 g 210 €, vei o we
FR AR F1d S| | 3

The first term of an A.P. is 8, the last term is 62 and sum of the terms is 210.
Find the number of terms and common difference.

H.C.F. (306, 657) = ¢ f&ar &, L.C.M. (306, 657) Sid DifsC! 3
Given that H.C.F. (306, 657) = 9, find L.C.M. (306, 657)

31eraT (OR)
fog oo & /5 ve smiea I 21

Prove that /5 is an irrational number.

20. TfE tan 26 = cot(0+6°) &, A o BT AN Fd PTL| [2 T (9 +6°) AT T HIUTE ]
3

If tan 26 = cot(8+ 6"), then calculate the value of g, [ 2¢ and (g +69) both are
acute angle]

21. Rz @few & &g (e, 0), (0, by 3R (1, 1)@%@?1% aﬁ—+%— .3
Prove that the points (a, 0), (0, b) and (1, 1) are co-linear, if é % =1,

A4l (OR)

forgait (1, -4) 3¥R (-5, -6) B e TTEY YERAVE B Y - ey Fevwr arquner F Fyenfima
Bl 21 39 whoae fag & Frers o sma Hifswe)
Find the ratio in which the Y-axis divides the line segment joining the points
(1, -4) and (-5, -6). Also find the point of intersection.
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22. UF THAGHS B SFBA F1d difore forwds o g9 B A (3, 0), (4, 5) (-1, 4) AR
(-2, -1) I 3
Find the area of a rhombus if its vertices are (3, 0), (4, 5), (-1, 4) and (-2, -1)
taken in order.

23, g i i ararfeg & 99 ® @iar 75 & woef @i @ dwsdl SRR ' gl 3

Prove that the length of two tangents drawn from an external point to a circle

are equal.
24. 3mpia ¥, OACB &= 0 3R B 3.5 cm I v v @ agafer @1 afd ob=2 cm &,
a1 Brifd T &7 SEwH 1 BT 3

In figure, OACB is a guadrant of a circle with centre O and radius 3.5 cm. If

OD=2 cm, find the area of shaded region.
A

0

370ET (OR)
& Ty ST A erifea 4 & &G S BT, &l ABCD, 20 T 43T &1 U aTf
& AT 3T T B YT DY AT AFER Fedd YT W 3Igdd Wi T &, (n = 3.14)
Find the area of the shaded region, where ABCD is a square of side 20cm and
semicircles are drawn with each side of the square as diameter, (n = 3.14)

A — 20cm — B
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25. 7.8 I, FwT OF YERavs @i 3R 591 5 ¢ 8 U # o St & wnl &
w1y ffae| ' 3
Draw a line segment of length 7.8 cm. and divide it in the ratio 5 : 8. Write the
measurement of both parts.

26. UF A 12 98 ¥ URT & wiiger 35 Y, quT &R & 3rge 55 f6HT. Sl &1 10 9 H
a7 30 foodl. ey & wfiper e 44 foodl. &Ry & SF[GE ST 1 ERT b et e RRR
ST | 1G5 Tt 1 BT 6

A boat goes 35 Km. upstream and 55 km down-stream in 12 hours. In 10

hours it can go 30 km. upstream and 44 km. down-stream. Determine the

speed of the stream and that of the boat in still water.
35T (OR)

3 9§ qd Hvge o1 a1y (& #) 7 ageepn 3R 319 | 5 7 uwET BN Y B GpH B AN
% #| 390 T 3y T BT
The sum of the reciprocals of Mohan's age (in years) before 3 years and after 5

1 .
years from now is = . Find his present age.

3
27. faz it b ol are g @ o 9o W w1 et Temsit & S @ By w0
gt &1 Fres o1 Y@rEvs g e W iR P pT RS e El 6

Prove that the angle between the two tangents drawn from an external point to
a circle is supplementary to the angle subtended by the line segment joining the

points of contact at the centre.
31edl (OR)

BL 31k CM o SwaoT Fisgar ABC Bt HiitamTs & aon 3 et o1 aivr A e | R
difsie {6 4(BL2+CM?) = 5BC2.

BL and CM are medians of a triangle ABC right angled at A. Prove that
4(BL%+CM?) = 5BCA.
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28. TR 7 m aTel 20 m TERT U 3t @ial S & 3R e & Fiavent gg e & 9d e o9
F HBEER 22 m x 14m TN TH TEART ST T &1 T TR B HaTg 1 DIfie|

_ 6

A 20 m deep well with diameter 7m is dug and the earth from digging is evenly
spread out to form a platform 22m by 14 m. Find the height of the platform.

29. TP AR & Ue-fag I va Had & RReR &1 3999 @1o7 30° 7 3R 9a & ure-fag |
TR & FRER BT 3599 BT 60° &1 Al AR 50m St &, A W= &I S8 5T P!
6
The angle of elevation of the top of a building from the foot of the tower is 30°
'and the angle of elevation of the top of the tower from the foot of the building is
60°. If the tower is 50m high, find the height of the building.

3RMEAT (OR)

U WM ISTHNT B AR & UIE a6 offdl &1 AR & FRER IR @3 06 e U6 BR
BT 30° 5 ITATAT PIUT IR aaT & 3 76 PR & Uie B 2R U THE T6 I ST | 300
APUs §1& DR BT AT DIUT 60° & 7| 3 fog I WHR & UTE T U5 H DR GRI
foran wan g s Hifsw| “

A straight highway leads to the foot of a tower. A man standing at the top of the

tower observes a car at an angle of depression of 30°, which is approaching the
foot of the tower with a uniform speed. Eight second later, the angle of
depression of the car is found to be 60°. Find the time taken by the car to reach

the foot of the tower from this point.

30. = IRaRar de & fow wiftasT sra SHifse - 6
il 3R SRR
140 A ®H 4
140-145
145-150 18
150-155 11
155-160 6
160-165 5
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Find the median of the following frequency distribution :

Class interval Frequency
Less than 140" 4
140-145 7
145-150 18
150-155 11
155-160 '_ 6
160-165 : 5
* %k %k k %k
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